
Math F���: Section �.�Worksheet Spring ����

�. Compute

lim
x→−∞

x� + �
x� − � .

�. Compute

lim
x→−∞

√
� + �x�
� − x� .
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Math F���: Section �.�Worksheet Spring ����

�. Compute
lim
x→∞
√
�x� + � − �x .

Hint: Multiply by � =
√
�x� + � + �x√
�x� + � + �x .

�. Compute
lim
x→∞

� + ex
� − ex .
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Math F���: Section �.�Worksheet Spring ����

�. Compute
lim

x→−∞
� + ex
� − ex .

�. Compute
lim
x→∞ ln(� + x) − ln(� + x)
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Math F���: Section �.�Worksheet Spring ����

�. Compute
lim
x→∞ arctan(�−x)

�. Compute

lim
x→∞

x� − ��x + �
x� + �

�. Compute

lim
x→−∞

x� + �
x� − ��x + �

�
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×
= O
,

and since arctos is continuous
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